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SAMPLE PAPER
= Subject : ECONOMICS

Class : X1
Time : 3 Hours Max. Marks : 100
GENERAL INSTRUCTIONS :
1) All questions in both the sections are compulsory

ii) Marks for questions are indicated against each

iii)  Question number 1-5 and 17-21 are very short answer questions Carrying one mark each. They are
required to be answered in one sentence each.

iv)  Question number 6-10 and 22-26 are short answer Questions Carrying three marks each. Answers
to them should not normally exceed 60 words each.

v)  Question number 11-13 and 27-29 are also short answer Questions carrying 4 marks each. Answers
to them should not normally exeeed 70'words each.

vi)  Question numbers 14-16 and 30-32 are long answer questions carrying 6 marks each. Answers to
them should not normally exceed 100 words.

vii)  All parts of a question should be answered at one place.
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SECTION - A

1) Give the formula to calculate co-efficient of variation. 1
fereror Tquries &l o T I AR |

2)  Define Correlation 1
- @l RTET ST |

3)  What do you mean by Project Report 7 1
s Rdid & e afie € 2

4)  Mention anyone difference between table and tabulation 1
el e WRilEe § ST T I |

5) What are Class - Limits ? 1
greofe Rl R E 2

6)  Explain any three importance of Stastistics in Economics 3

arefyire  wifeaat & ) A meel o sz S |

7)  Distinguish between Census and Sample method of collection of dafa 3
o (ST e sfert et 3 sfat we sl )
OR
Discuss how would you use Lottery Methad to select 5 Students out of 15 in your Class.
S10A) e o 2 BT A A A W e ey wifedy faifén o s B i 2wt Wl
8)  The Size of Land Holdings of 20 families in a village is given below.
Find Arithmetic mean of Size of Land holdings. 3
[ M Tl e e i e 1 o - e | R 2 e R L
Size of Land Holdings. (in/Acres) .
ST el T (TS # ) 10 20 30 40
Number of Families : . .
TR ) e s 6
9) 'State any three measures of Central tendency. 3

S gt bt T A TRCErao o 1T oh < AT T Seed R |

10) Arrange the data in the form of an exclusive frequency distribution table.
Using 5-10 as initial class interval. 3
fFrefafad sfidsl O U ofefi feraeor Il sy |
sui} Freifaraa faftn 0o w1 | R A 4-2 o S sy |

12 36 40 30 28 207
19 10 10 19 15 26
10 19 07 44 33 26
37 05 20 11 17 37
30 20 09 08 20 33
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11 The following data relate to the construction of a house in Delhi. Present the information in the

form of a pie diagram. 4
feseeft ¥ wes HapT e Sl AT <6 (1 e ) ofe NS g g iy |
[tems Percentage, Expenditure
LG afererd =14

Labour 30

Haigll

Bricks 15

s

Cement 20

die

Steel 10

&al

Timber 05

e

Supervision 20

frtaror

12 Calculate Rank correlation for the two variables given below. 4

frfefaa affersl & wfieed & f2 g oies &1 TFET SIS |

X: 52 53 42 60 45 41 37 38 25 27

Yo 65 68 43 38 V' 48 | 35 30 25 50
OR

a)  Draw a scatter diagram to represent the following values of x and y variables. Comment on the type

of correlation.

e etfersi i “x afft <y ol o s e |

X: 15 18

30

27

25

y: 7 10

17

16

12

b)  Write any one Meril and one demerit of scatter diagram.

v et &1 ueh A1 aite ush o e |

13)  What are the essential steps to be taken care of while preparing a Project Report

e qfieisr ftd s gu - ardl o s v ey |

14)  Explain any six uses of Index Numbers in Economics.

sy # fopf ©: gemsie & ae ol sl

4

6
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15)  With the help of data given below calculate median 6
Frefafaa siiemsl O ARz i ST |
Profit per retail shop @in Rs.) 0-10 10-20 20-30 30-40 40-50 50-60
iy e e @ (§. )
No. of Retail Shops "
. 12 18 27 20 17 6
16) Calculate quartile deviation from the following data 6
Bl affaral U fereer quish T B |
M;||‘I<S Less than 20 20 - 30 30 - 40 Above 40
e 3o GwH Yo U S
No. of Students o 10 14 §
ferenfeia =1 Se
OR
Compute Standard deviation from the following data
Freifefiaa aifenst & e e T S o
[ x: | ] 20 [ 30 | 40 [ 50 |
SECTION - B
17) What is Marketable Surplus ? 1
féfhey SRS I ® 2
18) | Give two examples of Economic Intrastructure ? 1
anfefen SRR ST o & SER AT |
19)  When was new Economic Policy enforced 7 1
aﬂr&faﬁguwmqéaﬂﬁf%qﬁﬁmémmw% ?
20) Gxplain the meaning of Seasonal unemployment. 1
Ay AR @ ot WY |
21) Define Sustainable development. 1
aqreier fErenre ) ars |
22) What was the state of Indian Agriculture at the time of Independence ? 3
Wﬁw@ﬁwwﬁumaﬁnﬁ@w%g@xmﬂww% ?
23) How do the following contribute to the environmental crisis in India
3

a) Rising Population b) Air Pollution

ﬁlmmwmﬁﬁ%ﬁmiawmﬁzﬁmaﬁﬁ%’ ?

a) dRdl SEEH  b) =g A
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24)  What are the three main advantages which makes India a favourable outsourcing destination. 3
wRedter srferere ¥ g fordia siha uRREfmET § fh o g fva o w1 s T ¢ | o Rkt
R
25)  What are the advantages and disadvantages of organic farming. (3 points each) 3
Sifereh @l & e of gkl @ 1 (A et
OR

Briefly discuss the following sources of Human Capital formation
i) Investment in Education
ii) Health Infrastructure
it fermifor & Frfalaa il v ==l i |
i) ferer # frrerer wen
ii) e SR o
26) What are the implications of one child norm in China ? 3

A1 7 ek dar N el wgergl Fifgene @ar g 2

27)  Why were Economic Reforms introduced in India? Briefly explain any four reasons ?

e 7 amieien QU el o1y foRe U 2 fepgl = RIROT g0 9HEIET |

OR

What is meant by Liberalization and Globalization ? State any two measures taken for
Liberalization of Indian Economy. 4
apferreret S Ferlieh 2o Ul e | et ST € 2 sl evef s & Serte & e et T e
<) ST Sl Faigy |

28) Define worker population Ratio. Suppese in Rural India the population is 100 crores and the
number of workers is 50 crores. Find the workers population ratio. 4
SR ST SRR | Af groftor eSS 2 o o il AT et Afts U o g § O At -
ST HPUI T =BT |

29) Compare the development strategies / Economie policies followed by India and Pakistan. 4

s ST wiferear g 319 e feemrereren At / enfies ifal ) gen S
30-a) Differentiate between Absolute and Relative Poverty.
ey @t Froer Frebrar o et A
b) Briefly explain any three causes ol Poverty. ' S0
Foreferan % foredl 9 SRl &1 v L |
31) What is Green Revolution ? Why was it implimented and How did it benefit the farmers ?
e anifer a2 & 2 58 ol @y e e § 1 ofi gud fral Y b T T 2 same @i |
OR

Explain any three goals of Economic Planning in India. 2+2+2=6

R & anfelen Freflort & <R 7T 3wl @ 9 &t |

32-a) Differentiate between commercial and Non commercial sources of Energy.

FEEE T -sreiies Sl & & siat gEEney |

b) List out the Six Systems of Indian Medicine. : 3+3=6
s faferear @t @: onferdl & g s
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MARKING SCHEME
Q.NO Value Points SPLIT UP OF MARKS
B SECTION —A o
i ___ (Standard deviation)o / Mean Multiplied by 100 ;—
2 Correlation is a statistical tool which studies the relationship between two or 1
more variables.
| 3 It is interpretation of Data collected pertaining to a particular phenomenon. | 1
4 Tabulation refers to the method or process of presenting data in the form ofrows | 1
and columns. Table refers to the actual presentation of Data in the form of rows
and columns. Table is a consequence of tabulation
5 In a continuous series, each class is located between the two numbers. These two 1 i
[ numbers make class limit.
6 i) To present the Economic facts precisely 3 =
ii) To condense the mass data into a few numerical facts
iii) To formulate Economic plan and policies
(Any three relevant answers each point one mark)
7 Census method — 3
1) extensive enquiry 2) Large amount of money , time & labour
3)More accurate 4)useful for limited area
Sample method —
1) Limited enquiry 2) Less time, labour & money
3)Less accurate 4)useful for large area
( Any relevant answer each point half mark) 5
(or) 2
Method used —Random sample, 15 names are written on separate slip folded 3
into identical size & shape, Slips placed in a bowl & mixed. Blindfolded or unbiased
person is asked to select the slip. Each slip has an equal chance of being drawn. (
with proper explanation 3 marks )
8 Size(X) No. of families(f) X Table =1
10 5 : 50 3 Formula=1
20 : 6 120 Calculation with
I 30 7 Bah . answer= 1
40 2 80 (total=3)
>f=20 Total=460
Mean= 5fx / 5f
Mean= 460 /20 =23 , mean = 23 -
i" L "} 1)Arithmetic Mean 1+141=3
2) Median
3) Mode
B ( One mark each)
Page | 94
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0 | 4 [ Classinterval=
WS- Tl e ot e . S Tally Bar= 1
| Classinteval | TallyBar | Frequency Frequency= 1
510 | 1 4 Total =3
10-15 “HiI 5 |
15-20 e S 5
2025 T b4 |
2530 mo R d8 s
B 3035 | i e |
35-40 ST jESE
4045 I 2
11 |- Items | % Expenditure Degree R
Labour 30 108 el
Bricks 15 54 T
B Cement 20 bz |
Steel 10 i 36 |
Timber B - 05 R * g |
| Supervision B 20 ,_,7_?*7
I  Total 100 360 1+3=4
Converting to degree=1 el
§ Construction of pie diagram with correct degree = 3 marks
12 X Y RI R2 (RI-R2)=D D2 Calculation of table =
52 65 3 3 0 .0 Formula=1/2
53 68 2 2 0 0 || Calculation with
4z 43 5 6 i SRR answer=11/2
60 38 1 7 6 36 | Total=4
| 45 77 4 LR T
I 48 6 5 & | 1
9 35 8 8 0 B 0 |
33 30 7 9 Al T 4
| 35 | s 10 10 0 =
27 50 9 4 N e
L TN=10 5D2 =76
rkK=id-'63D2/ N3 - N
rk =1- 6(76) /(10)3 - 10
1- 456/990 = 0.539
Positive Moderate degree of correlation.
(or)
Solution — Plot the values of X and Y on x and Y axis.=1/2 mark %
Correct Diagram=2marks
There is positive correlation between values of X and ¥ (1/2 mark)
Merits- Simple , easily understood & not effected by extreme items
Demerits — Non Mathematical, Rough measure, Unsuitable for large observation.
J_‘ {Any one point each relevant answer)1/2+1/2 =1 mark (e 5 &
Page | 95
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i3 Essential condition to be taken while preparing a project report. 1+1+1+1=4
i) Clear objective for which the study is under taken
ii) Selection of target groups
iii) Choice of their technigque of data collection
iv) Precaution while preparing questionnaire (any four relevant points)
14 | Uses of Index Number:
i) Helps in policy formulation.
ii) It is helpful in determining the purchasing power of Money
iii) It is useful for government in fixing dearness Allowance
iv) useful for government in rationing of commodities
v) Used as National Income deflator 6
vi) Helps in studying trends
vii) Acts as a Economic Barometer.
( Any Six points with explanation one mark each )
15 Profit per retail shop(x) No. of retail shops(f) af cf=lmark
0-10 12 N finding median
1020 18 30(c.f) class=1mark
(L)20-30 27(f) 57 — formula=1
30-40 20 77 calculation with
40-50 17 94 answer=3
50-60 6 100 ] total=6
N=3f=100 ]
M= N/2 =100/2 =50" item (20-30 class)
M= L1+ N/2 —c.f/f x|
20+50-30/27%10
M=27.41 )
16 Class —Interval F et Table=2
lLessthan 20 7 ; oy FormulaQ1,03&Q.D=2
20-30 10 e Calculation with
30-40 14 o answer=2
Above 40 9 40 B Total=6
N=3f=40 ' i
Ql =N/4 = 40/4= 10"
10" item lies in group 20-30
Ql=Ll+N/4—cf/fx i
20+ 10-7/ 10 x10
20 +30/10
Ql=23 |
Q3 = 3N/4 = 3(40)/4 = 30"
30" item fies in group 30-40
Q3=L1+ E'M_;c_f X1
f ;
30+ 3--17 /14 x10
Q3 =39.28
L
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Quartile deviation=0Q3-Q1/2
39.28-23 =8.14(ans)
2

(or) ___ 5 Table with
X X2 >x & $x2 =2rmark
10 100 Formula=1

20 400 Calculation with

30 900 answer=3

40 ' 1600 3 Total=6

50 2500
$X=150 >X2 = 5500

S.D=V¥X2 /n—(3x/n)2
$.D =V5500/5-( 150/5)2

S.D =¥1100 -900
S.D =14.14 (ans)
o SECTION- B B
17 The portion of agriculture produce, which is sold in the market by the farmers, 1 mark
after meeting their own consumption requirement, is known as marketable
. surplus. g
18 Power, communication, transport, 1/2+1/2=1
e (Any other relevant answer) -
19 ) 1991 | 1
20 Unemployment that oceursiin certain seasons of the year.is known as seasonal 1
f unemployment. s
21 | Development which meets the need of present generation without compromisiﬁg . 1
the ability of the future generation to meet their own needs -
22 | Condition of Agriculture- 1+1+1=3
1)Low level of technology ‘
2)Lack of irrigation
3)Land settlement
4) partition of India( with brief explanation)
Any three points Ly | (.
23 | a)Rising population has resulted in the demand for more environmental resources 1%+11/2=3
both consumption and production goods.
Many resources are becoming extinct beyond their carrying capacity of the
environment leading to environmental crisis.
b) Air pollution —Discharges harmful substance to air.
results in health problems.
Ozone depletion
Results in climate change. s i
24 WT)ULTOL’]rci’ng refers to a system of hiring business services from the outside world 3
Advantages which makes India favourable outsourcing destination are
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*Availability of cheap labour in India
*Revolutionary growth of 1T Industry in India
*Skilled workers (three points one mark each)

25

1. Enhances Ecological balance
2. Generates income through international export
3. More nutritional value

Disadvantages of organic farming
I. Requires more labour
2. Yields of organic farming is less than modern agriculture in the initial year
3. More blemishes and shorter self-lifes
(Any other relevant 3 points half mark each)
(or)
Investment in Education : increases future income
increases labour productivity
Enhances output of goods & services

Investment in Health - also an important input for development of nation
Education can be attained only when people have healthy life

HCF can be at its best only when health Infrastructure is developed

(Any relevant explanations)

6x1/2 =3

11/2+11/2=3

26

More of Elderly people than young people which force china to take steps to
provide social security measures with fever workers

- Reduction in population -

- Increase in GDP

27

Reason for Economic reforms:s
e  Poor performance of public sector
» Deficit in Balance of payments
« [Inflationary Pressure.
e Fallin foreign exchange reserves.
s __Huge burden of debt.(Brief explanation of any four )
(or)
Liberalisation - means making the economy free from direct or physical control
Imposed by the government. '
ii) Globalisation : Means integration of the economy of the country with the
World economy.
Two measures are :
1. Abolition of industrial Licensing
2. De-reservation of production areas
3. Financial sector reforms
4. Fiscal Reforms
5. External sector Reforms
(Brief Explanation of any two)

1+1+1+1=4

28

Workers population ratio is an indicator which is used for analysing the
Employment Situation in the country. It is useful in knowing the proportion of
population in employment.

Workers Population Ratio =Total Number of workers / Population x 100
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WPR = 50/100 x 100=50%

Both followed mixed Economy
29 | - Tariff protection policy 4
- Introduction of Green Revolution in 1960°s
- Policy of Denationalization through New Economic policy, Pakistan in 1980°s
and India in 1991
o (Brief Explanation of above points) -
30 a) Relative Poverty = refers to poverty of people in comparison to other people , 3
regions or Nations.
Compares the inequality of income and asset ownership.
Absolute poverty = Refers to the total number of people living below the poverty
line.
B )Causes of Poverty:
1) Exploitation by British rule 3
2)Unequal distribution of income
3) Social inequality.
| 4)Unemployment &underemployment
) 5) Rise in price(Any three with brief explanation)
31 | Green Revolution refers to the large increases in production of food grains resulting
from the use of high yielding variety of seeds especially for Wheat and Rice with
the use of fertilisers and pesticide in correct quantities as well as regular supply of
water.
It was implemented. 1 24242=6
1. To improve the Agricultural productivity -
2. To achieve self-sufficiency in food grains -
3. To keep the Buffer stock in case of emergency
4. To supply food grains te poorer sections through PDS (Any two points)
- It benefitted the farmers in the following ways::
1. It led to the marketable surplus
2. Farmers could access to irrigation facilities in case of shortfall of monsoon
3. Farmers could get loans from government at low interest rate to purchase the
input
4. They could get finaneial resources to purchase fertilisers and pesticides (Any
two points)
(or)
Goals or objectives of Economic planning:
1) ,Growth 2) Modernization 3) Self Reliance 4)Equity
(Explanation on any three) N -
32 a) Commercial Source- Exhaustible, They command price, Used in Industry &
commercial purposes 11/2+11/2=3
Noncommercial Source- Renewable Generally used for domestic & consumption
purpases.
( Any one point each )
b) Six System of Indian Medicine are
Ayush
I. Ayurveda 2. Yoga 3. Unani 4. Siddha 5. Naturopathy 6. Homeopathy
(Each point 2 mark ) 6x'4=3
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